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Fractions greater than 1

7 itths = | | whote +[ ) | ffths

© comvies e srenc

here are 7 ffths altogether,

here are [ [ fifths altogether.

15 s =[5 ] wholes +

- Jitns

here are 7| quarters altogether

75 Javortes = [ 7] wholes +

quorter

E @ shacethebor mocels o represent th ractos,

‘Complete the number sentences.
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@ whney bokes 25 s
s re pocked nboses of &
a How many boxs can whitney fl?

Whitney can [ £ |boces

b) How many more muffins does Whitney need to fill
nother box?

Whitnay needs [ 2| muffins to fl another box.

Explain how you know.

How does writing 2 help you to answer this?
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Answers

Challenge 1 - 8 people

Challenge 2 - 18 pence

Challenge 3 - The blue square is equal to 20
Challenge 4 - 98 cm

Challenge 5- 0.4 kg
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How do you know which are unit frocions? Q

What is a fraction?
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here are [ 7 | equol parts aitogether.
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Drow an arrow to show the posttion of the fraction on the
number line.

(@) oo on arow o show the ostion of on the rumber .

b
o 1

What do you notice?

€ orow four vt represncatons o 3

Voron anmares ¢

(© i hos arown sma 20 shapas
el mm| |Fa

@) What fraction of the shapes ore triangles?

b) What fraction of the shapes are squares?

9 What fractin of the shapes have four sides?

@ Draw 20 shapes to match the desciption
1 2 3
L ore squores, 2 are trangles, 2 have more than 3 sides.
5 O savores. 5 v 5

Compare shapes with a portrer.
What s the some about your shapes? Is anything different?
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Talk about your answer with a portrer.

Ron has cut his boguette Into | 1] equal pleces





